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  New Vision of EE  


Sample Exam 7

1. A broadband service company borrowed $2 million for new equipment and repaid the loan in the amount of $2.25 million after 1 year. What was the interest rate on the loan?

2. What nominal interest rate per year, com​pounded continuously, is equivalent to an effective rate of 13.2% per year?

3. How much money could a maker of super​conducting magnetic energy storage sys​tems afford to spend now on new equip​ment in lieu of spending $65,000 five years from now if the company's rate of return is 12% per year?

4. A small internet company plans to offer its employees a salary enhancement package which has revenue sharing as its main component. Specifically, the company will set aside 1% of total sales for year-end bonuses for all its employees. The sales are expected to be $5 million the first year, $6 million the second year, and amounts increasing by 20% each year for the next 5 years. At an interest rate of 10% per year, what is the present worth of the bonus package?

5. Use the cash flow diagram below to calcu​late the amount of money in year 5 that is equivalent to all the cash flows shown, if the interest rate is 12% per year.
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6. Calculate the present worth for a machine that has an initial cost of $29,000, a life of 10 years, and an annual operating cost of $13,000 for the first 4 years, increasing by 10% per year thereafter. Use an interest rate of 20% per year.

7. Calculate the value of x for the cash flows below such that the equivalent total value in year 8 is $8,000, using an interest rate of 15% per year.

	Year
	Cash Flow, $
	Year
	Cash Flow, $

	0
	2000
	6
	x



	1
	2000
	7
	x

	2
	6000
	8
	x

	3
	2000
	9
	900

	4
	2000
	10
	500

	5
	x
	11
	500
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